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Types of Proportional

U First Proportional ( 7H 3{194Td )

1 Second Proportional ( fgdtar 3 uTa)
 Third Proportional ( gta 31ara )

] Fourth Proportional ( =gl 31T )
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When three numbers are given

First Proportion

(9gH AU )
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COMPLETE [\, V:¥ ¥ s N COURSE (For all govt. exams )

G, 17, 2H
@ S 12:2Y 1. The first proportional
of three numbers 6, 12
/% :%‘4'3 and 24 is:
- a9 |E&A 6, 12 31T 24 T
@ UIH AT T E7
\a)/3 (b) 4
(c) 7 (d) 6
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When three numbers are given

Second Proportion

( Tgda 31UT )
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28 4, 5

8| x] " Y4:S 2. The second proportional
of three numbers 28, 4

_15«”8_’_-;,14; and 5 is:
X s 99 HEAd 28, 4 3 5
fgda aruTa =/ grm?
(a) 39 (b) 48

\(¢) 35 (d) 40
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When three numbers are given

Third Proportion
(e 37T )
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2, 3,15
Q 3] IS 3. The third proportional
of three numbers 2, 3
=% . and 15 is :

9 @@ 2, 3 3T 15 o

(b) 20
(c) 30 (d) 40
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'When three numbers are given

Fourth Proportion

(Tqe 37U )
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12 4 24
2. 14 - 24 4. The fourth proportion
D M - 2 2 of 12, 14 and 24 is :
v 12, 14 3R 24 & wqd
3T ST &7
(a) 30 \(p) 28

(c) 32 (d) 36
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02012 0% % S. The fourth i roportion

;)sf @ and

02 =ol3
R 0.2, 0.12 3T 0.3 =1 wqd
AL 0 12x2 TUTd =T g7
R (a) 0.13 (b) 0.15

\(6/0.18 (d) 0.8
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M of 0.12, 0.21 and 8
o)z~ - 2 is +
02, T

0.12, 0.21 3 8 &1 wqd

3T ST &7

(a) 89 (b) 56

\(c)14 (d) 17
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012 1S X 7. The fourth proportional
| | to 10, 12 and 15 is :

/ZA};—K’B 10, 12 3iX 15 @1 =iem
.S :
- TR & :

CHSL, 15/10/2020 (Evening shift)

(a) 24 (b) 22
\(}‘ 18 (d) 20
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When Two numbers are given

First Proportion

(TR 37T )
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3 5 8. The first proportional
a2 G of two numbers 3 and
Sis:
%2 2 W 3 3 5 @ e
D% - q AT AT EIM?

2 (a) 1.6 \(b) 1.8
(c) 1.2 (d) 1.4
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When Two numbers are given

Ia <\ic
& J ”}‘"{ EL(\ I;)' ‘.:I" A\ | \':;'J' a \ | \
] v o

W =2 N £ S ‘

Second Proportion

(Tgda 3T )



When Two numbers are given

Mean Proportion

(HeT 3TUTd )
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(26 x X 0.9]

9. Find the mean proportional
=) fé,f_ - l.q of 3.6 and 0.9?
5 A = 3 v 3.6 37T 0.9 ST HET TUMUTAT GE&AT
- i T 272
A CIL (a) 2.8 (bf 1.8
M- 6x3) g (c)2.4 (d) 5.2
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M-P= \Y (3+2) (12-V322) 10. The mean proportional

- \((?H\fi) (12 - YJ§2) between (3 +@ and
- 5 (3+\ﬁ) q.(g_ﬁ) (12—\/3_2) is : CPO ST &069

B - 3+V2 12-v32
—\gq (3*\1."1)(3.-\?1) n(wqm?ﬁ )31?1 él )W

R GR ()L (a) V7 (b) 6

- 15-3V2
o/ 2V7 (@) —
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When Two numbers are given

Third Proportion
(e 37T )
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| 24K
q\_?}? ’ 11.The third proportional
?5/ i o of two number 9 and
24 is :
D’X“Gﬂ a1 &MU 9 3T 24 & JAd
- - U ?
A 214 MW € - %”fTIT
3. 3. g )8 (a) 39 (b) 48

(c) 72 \ (d) 64
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X X1 of two number 4 and 28
196 15
3l @EU 4 30T 28 T gA™
ATATA ST EI?
(a) 52 (b) 56
(c) 84 (dy 196
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(o*-kt).(@-b) i (@-b) - X 13 rpe third proportional
of two number (a% - b?)
and (a—-b)is:

3 WE&ATT (a2 - b?) 31T (a - b)

T A AT AT A2
ab o ath
a+b (b) a-b
a o P

(€) ¢ (d) ~
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M-p - & 4.8X 10-B —\Bxléxax%m. What is the ratio of the
N—

mean proportional between
BXHXG @ o 4.8 and 10.8 and the third

COMPLETE [\, V:¥ ¥ s N COURSE (For all govt. exams )

proportional to 0.4 and 2.47?

?)Yo\ 3 ry
= ouoy- ‘2\4%@ 48 TUT  10.8 |l Wrem
\_) |UTUTE 99T 04 3N 24 &
16 drer e e @ SruT
MP -4 AT il
3Jvd ,\W \'Ji SSC CGL 10 June, 2019 (Morning)
(a) 2:1 (b) 3:2

Yoy 1:2 (d) 2:3
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4+h-'—' v q [ 15. What is the ratio between
2 -4973 G—) X = 117 the fourth proportional of
1K 3, 4, 9 and the mean

S proportional between 2
XA8 —J2x2x49 gnq 982

2@ 3, 4, 9 & @Y orUTAr 3T 2
3T 98 & WEATUTAT & &rel oAl

¢ - WG-@ T T &7

COMPLETE [\, V:¥ ¥ s N COURSE (For all govt. exams )

SSC CHSL 11 July, 2019 (Afternoon)
(a) 7:8 (b) 7:6
(c) 8:7 ((A)6:7
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2 5 0y 08 0.8 %

BY ADITYA RANJAN SIR

T SN N~ 16. What is the ratio of the
- x 3\ third proportional to(0.4
Y.< |-§ |\ and 0.8 to the mean
Mo proportional between 13.5
n = &'11_}.8’ X 24 \’L X lX'.’aXV "and 0.24?

Vo |0¢) 0.4 T4T 0.8 & &Y SMTUTfaah
- 3X3X2 (3 s 135 @wr 024 @
3o 10 ) ;me quTATdt ® ST 31U

2 = |K - ?
Maan | % SSC CGL Tier II, 12 Setpember 2019

(a) 5: 4 (b) 7 :8
No) 8:9 (d) 9: 10
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17. What is the sum of the
mean proportional between
[P(n- w]

10.8 and 4.8 and the third
proportional of 2 and 47?

Comnment Box

108 d4T 48 o o<l U

UTATE 9T 2 3N 4 & o &
ey JTUTiaes T AT T 87

SC CPO 12 March, 2019 (Morning)
(a) 15.2 (b) 11.2
(c) 8.2 (d) 10.2
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G J?-SGK?D?'U‘ 18. Let x be the mean
_ 16X 18 ‘ proportional of 25.6 and

- 32.4 and y be the third

proportional of 32 and 48.
=49 <)q’2- Then, 3x: 2y =7

ue oifau fed x, 25.6 31T 32.

@ 3 4 & WU § 3Ny, 32
e T3 48 W AEIE &1 A
ﬂ—?’xlf(ﬁ}g 3x:2y =7
VR S — SSC MTS 20 August 2019 (Morning)
J \’GXZ/XW{y (@) 5:3 \(bY3:5
(c) 4:5 (d) 5: 4
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\rx:%ﬁlSiQ."lJ 19.If x, 8 and 27 are in
) constant proportion, then
what is the value of x?

%’-__S_— aﬁx,samnﬁwax@crm
L 4 g, d x & U & 872

SSC MTS 20 August 2019 (Evening)

2 8
(a) 3 (b) 3

4 64
(c) 3 ) >7
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Very Very Important Questions

PROPORTION AFTER
ADDITION OR SUBTRACTION




O VR
b, d

@'\
(> (a-(/ Tl
y (b-%) 15 (c-w)
w) (d-w

) (?m) ~ (<-n)
\b-\() f(d_y\)x ><

ﬂ\unn‘l‘ |
M ehoo! R
—~— ) Qd’ L)(
(Q\(q) - ("H()







DIRECT TRICK

SUBTRACTION

Let ‘x” be a number which is subtracted from a, b, cand d
to make them proportiona\ll then

ad — b }ﬁ“ Meshod
)

2= (a+d)=(b+c



DIRECT TRICK

Let ‘x’ be a number which is addedtoa, b, cand d
to make them proportional, then

bc—ad
2= (a+d)=(b+c)
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& G?\'-j' 5 lj 21. Which number when
added to each of the

Az IXIS— 6XITT = ([0S —|D2 numbers 6, 7, 15, 17
23— 292 \ - will make the resulting

- @ numbers proportional.

few wen *t 6, 7, 15, 17
% U 9@ H SIST AU

'
D Zg_ i TNl GEANE QAT G
10 2 & st

Q/Ulo \—’ﬂ-q.

Qph'cm

Download RG VIKRAMJEET application for complete course.




BY ADITYA RANJAN SIR

MATHS COURSE (For all govt. exams )
3Y J M 26 20 SY

puthed .~ —— 22. What is the least number
/fx . 9 2, subtracted from 14, 36,
- PSS 28 xW 20 and 54 so that these
L\ T numbers become propor-
— 1 P
~ 63 . tional: |
» 60 =(3) 14, 36, 20, 54 ¥ y=w Ug
_Oﬁ’hm ﬁﬁm—ﬁfﬁnwmm
A fr @ =g |uruTEr g S’
333
3 a3 (b) 2
(c) 4 (d) 5
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deo. 20. Which number should
/U@’y’t be added in 4, 10, 12

5 - K and 24 each to make
M = these numbers in
proportion.

4, 10, 12, 24 4 Ud* H
ﬁﬂﬁ‘ru@rsﬁéaﬁ

|ATUTfae &7
(a) 9 (b) 3
(c) 6 (d)4
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RS

23. What should be subtracted
from each number 3, 5, 6

- X1 § and 7 that they are
- - 3 1= = proportional each other?

(3+) = (546) 3,5, 6, 3T 7§ ¥ &1 T2
- 10 T fr @ W e
7 HETUTA & ST?
(a) S (b) 6
(cy 9 (d) 8
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2%, 239, 32 , S6 24. If x is subtracted from each of
2>

= — 23, 39, 32 and 56, the numbers
A= 223xSg—3ax2z 1 so obtained in this order are in
proportion. What is the mean
/8/ proportional between (x+4) and
(3x + 1)?
ERNEENE S afs x @ 23, 39, 32 X 56 H |
' Udeh § ST ST g, O Ui g
m.P:MSW)mSﬂ— arelt @@t @uruTE W ot 2
_ ) (x+4) 30T (3x+1) & o "
N @ " T UTicIeh AT il
SSC CGL, 4 June 2019 (Afternoon)
(a) 15 (b) 10
(c)12 (d) 14
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§ = U "+ 24. If x is subtracted from each of
m@ JCX T ) ( 3 l) 23, 39, 32 and 56, the numbers
SOI XlS = |2 so obtained in this order are in

proportion. What is the mean
proportional between (x+4) and
(3x + 1)?

afe x &l 23, 39, 32 3T 56 H

Udd W U W@ &, af ure g
gt @@ @O ® ot R
(x+4) 3T (3x+1) & &= HeA
TUTdeh ATd il

SSC CGL, 4 June 2019 (Afternoon)
(a) 15 (b) 10
(cy12 (d) 14
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Q 3 30 3.5 25. When x is added to each of 2, 3,
- " 30 and 35, then the numbers
) = Q-0 - 2 — obtained in this order, are in
‘5 ~ 3% i ~ proportion. What is the mean
proportional between (x + 7)

and (x - 2)?

W& x Rl 2, 3, 30 3T 35 ® SeT
ST & Al 39 ohW W WTW gIA ared

- \S‘ZXES = 0 @ AueuE W ¥ (x+7) a9
(x+2) & s " |UEUE 7
i

SSC CGL, Tier II 11 September 2019

(@) 7 (b) 4
\eV6 () 5

Download RG VIKRAMJEET application for complete course.



COMPLETE [\, V:¥ ¥ s N COURSE (For all govt. exams )

&I QA 6O

¢

X = ,@"/XGL( ’22M

.-

- L‘W%— Uupy =

N (et) (g

- \\9)(6&4
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26. When x is subtracted from

each of 21, 22, 60 and 64, the
numbers so obtained, in this
order are in proportion. What

is the mean proportional
between (x + 1) and (7x + 8)?

S x Rl 21, 22, 60 94T 64 H |
TSl ST 8, df 39 U’ urd
UEU @uUTE W O®) (x+1) der
(7x+8) & oo WA WHATAl

AT HL

SSC CGL, 6 June 2019 (Morning)
(a) 27 (b) 18
(c) 24 (d) 21
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8 | %\___22-6 40 27. What number must be added

to each of the number 8, 13,

26 and 40 so that the

("6 - 72’8‘ 2 number obtained in this
B S ANGS order are in proportion?

form @@= @&t 8, 13, 26 3R
40 H TIST AT ATEU aTieh
39 %Y H Wi §EAU QHEUT
g gr?

SSC CHSL,16/10/2020 (Afternoon)

\(ay” 2 (b) 3

(c) 1 (d) 4
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